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CuHxpoHHasa undgppoBasa nepapxusa (CLN)

KonnyecTBo 06begUHAEMBIX

YposeHb | STM-N C'L%F;‘;‘/’;b NOTOKOB

E1 E3 E4
1 STM-1 155 520 63 3 1
2 STM-4 622 080 252 12 4
3 STM-16 2 448 320 1008 48 16
4 STM-64 9 953 280 4032 192 64
5 STM-256 | 39813120 | 16128 768 256
6 STM-1024 | 159252480 | 64512 | 3 072 | 1024
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ONEMEHTHI BNOEOUMIYJ1bCHbIX CUTHAJ10B

dopmupoBaHue TpebyemMoro sHepreTu4ecKoro cnekTpa MoXxeT ObiTb
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OcCHOBHbIE NnapaMeTpbl HEKOTOPbLIX KOAOB

SNEeMeHTbI

CUrHanosB
Koa ucnonb3yemble And (6 MB; ;%)f;ru P, [ K:
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«1» «0»
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